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"Appendix D gives dynamic viscosity for a variety of fluids as a function of temperature. Using
this appendix, give the value of the viscosity for the following fluids:

2.18 Water at 40°C."

The viscosity of water at 40°C = 6.5 x 10 N*s/m?; as approximated from Appendix
D in the course text.

"2.61 In a falling-ball viscometer, a steel ball 1.6 mm in diameter is allowed to fall freely in a
heavy fuel oil having a specific gravity of 0.94. Steel weighs 77 kN/m3. If the ball is observed to
fall 250 mm in 10.4 s, calculate the viscosity of the oil."

The viscosity of the oil is 2.5 x 101 kN * s/m?
(see attached sheets for solution)
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